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26. 7%
10% 0.6%
1
1 | | l i
M./ % A/ % Va/ % Q nead/ (k]/kg) -
1.33 24. 48 26. 44 23603. 1 1
1 Cs 870 ~ 880C
18m Cs 870°C
880°C MSP
Cs 870 ~ 890
860°C Cs (22. 169m)
Cs
99. 72% 1.4 ~2.2t/h
4.6 ~5.6t/h :
6% A
6.0% ~6.5% 2
1) MF
1:1 2 5.2 2.1 Ca0
2 Ca0
M /% A/ % V /% 0 vua/ (kI /kg)
1.16 27.28 24. 46 21496.8 2)
0% CaCOs 1100C
15. 5m
. 421/h
3) 30 ~ 60min
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4) 15¢m 5
3 4
3 % 4 NSP
LOSS CaO SiOz A1203 FezOs MgO
0. 795 36.99 31.98 7.51 16. 94 2.15 /(t/h) 85 ~ 90 Cs /C 845 + 10
3 /(t/h) 2.4~3.0 /C 845 + 10
2~3 /(t/h)| 3.8~4.2 Ci /kPa 5.0+0.2
/ (r/min) 3.0~3.2 /kPa 5.5~6.0
Ci /C| 310 ~330 /Pa 100 ~ 200
835 ~ 855C 3.8~4.2t/h /C =750 /Pa <200
2.4~3.0t/h /C 1000 = 40 04/ % 3.5-4.5
90% |
3
1200t
C — 5. 8kPa 6 SP
30% 13 ” SP “
10% Ci 0. .
3.5% ~5.0% C 0 ~400mm
330 ~350°C 80% 30%
| 2. 0r/min 30t/h G
77h - 2. 5kPa( Ci —2.2kPa
3510. 7kJ /ke ) ) 4.0t/h
50% 4.5t/ .
85% ~95% C, 310 ~ | 5 ~10min 2.5~3.0
330C G - 5.0kPa r/min
( 10%)
Ci 0, 4. 0% N
3121, 3KkJ /kg 4601 ) ) o
10 )
1
4
2)
40t/h 1. 2r/min
3) “ ? 3 ~4t/h
NSP
2.4 ~2.6r/min
1150°C
(0.4 ~0.5r/min )
2h
( )
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